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Sher-e-Kashmir University of Agricultural
Sciences and Technology of Jammu
University Examination Gall

Subject: Revived answer key: For the OMR hosed SKUAS =Jammu Common Entrance

I.ﬁé }-2023 for admission to postgraduste programines conducted on 10-

Sher-v- Kashmir University. of Apriculturs] Scicoces and Technology of Jammm
canducted OMR hased Common Entrance Test (CET) 2023 for admission to posteraduate
programmes, notified by the University vide Motification No: 36 (Acud. ) of 2023 dated; | 7-04-
2023, on 10-06-2023 (Saturduy),

Ihe answer keys of & pestgraduate proprammes namely Basie Sgiences, Aptioul i)
Scichees, Forestry, Sericulture, Agricultural Englneering and Rintechnology & Molecular
Biology were uploaded ot the Universsity webvile for secking objections from 12 to 15 Tuge
2023,

The objection received from amdidates by the due date wore semt to experts far Uik
comments. In Hpht of the objsctions snd the comments of the experts, revised anawer key of
the above referred progmmmes are uploaded at {he University website for information of all
candidnies (Annesuré-A).

(R Ao

(Rajinder Peshiny® 7 * 66- 223
Ife University Examination Cell

No: AUNUEC23-3YTF-39(PGY
Dl_ﬂti 27 -06-24023

Copy lor nformpstion o: |
Director Bduention SKUAS T=-Tirumu Tor mnformiaticn < F A

Repistear, SKUAST-J, for information P i

Ve Dt Centre SKUAST-), for uploading the same on the Universi

SV for kind information of the Hon"ble Vice Chancellor
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